@ @A Q}%\‘j i three fractions,decimals, order of operations with
_ { brackets
Name: Date: Score:
A= 1
(12+30)+6 (4—59)x = =
2
2(1 £37)= 3(5.5—5.7) =
5
2 1 8 56
2(=+=)= — ——)+4=
(5 2 ( 5 5 )
5 5 1
-+ =-)+5= 44+ 44)x - =
G+32) (4+44) % 5
1 1 1
3—=)x36= 3— )X ==
G-3) (-3 5
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@ @ Q}%\‘j i three fractions,decimals, order of operations with
_ ® brackets
Name: Date: Score:
(12+30)~6=7 4_s9yx Lo L9
(459 %5 =(5)
1 39 3
2(=+3.7)=— 35.5-57)=(—~-=
(3+3D=3 (55-57)=(3)
2 1 9 8 56 3
2A=+=)=-= — - —)+4 ==
(5 2) 5 ( 5 5 ) 2
5 5 2 1 21
—+)+5=2 44+44)x = = —
G 727573 (4+dd)>x3=3
1 1 1 4
3—=-)x3.6=9 3— )X == —
( 2) ( 3) X5 =3
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